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// freq

£1=50;

£2=120;

// sampling freq

£s=1000;

// signal

t=(0:1/fs:1-1/fs);

[m,n]=size(t);

x=sin (2*Ypi*f1*t)+sin (2*)pi*f2+t) ;
y=x+(2*rand(m,n)-0.5);
Y=fft(y,-1)/length(y);

Pyy=abs (Y) ;
fx=fs*(0:1length(y)-1)/length(y);
// plotting

subplot(2,1,1); plot2d(t,x)
subplot(2,1,2);
plot2d3(fx(1:length(fx)/2),Pyy(1:length(Pyy)/2));
xgrid();
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fs=120;

t=(0:1/fs:5-1/fs);
[m,n]=size(t);
x=read(’signal.dat’,-1,600);
y=x+(2*rand(m,n)-0.5) ;
Y=fft(y,-1)/length(y);
Pyy=abs(Y);
fx=fs*(0:length(y)-1)/length(y);
subplot(2,1,1);

plot2d(t,x);

subplot(2,1,2);
plot2d3(fx(1:length(fx)/2),Pyy(1:length(Pyy)/2));
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x1(t) = cos (27 f1t), x2(t) = sin (27 fat), x5(t) = 2 cos (27 fat)
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1=10;£2=20;£3=30;

£s=100;

t=0:1/fs:1;

xl=cos (2xYpi*f1x*t);
x2=sin(2*pi*f2*t) ;

x3=2%cos (2*)pi*f3*t);

x=x1+x2+x3;
y=fft(x,-1)/length(x);

Y=abs (y);
xfs=fs*(0:1length(x)-1)/length(x);

plot2d(xfs(1:1length(xfs)/2),Y(1:1length(Y)/2));
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£1=10;£2=25;£3=40;
£s=100;

t=0:1/fs:5;

xl=cos (2xYpi*f1*t);
x2=sin(2*,pi*f2*t) ;
x3=2%cos (2*Y,pi*f3*t) ;

x=x1+x2+x3;
c = b;

for n=1:length(x)-c+1
gn) = (1/c)*sum(x(n:n+c-1));
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end

y=fft(g,-1)/length(g);

Y=abs (y) ;

xfs=fs*(0:1length(g)-1)/length(g);
subplot(2,1,1)

plot2d(t(1:n),g(1:n));

subplot(2,1,2)
plot2d(xfs(1:length(xfs)/2),Y(1:1length(Y)/2));
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1=10;£2=25;£3=40;
fs=100;

t=0:1/fs:5;
xl=cos(2xYpi*fixt);



x2=sin(2*Ypi*f2*t);
x3=2%cos (2*,pi*xf3*t) ;

x=x1+x2+x3;

c=2;
for n=1:length(x)-c+1
f(n) = x(n)-(1/c)*sum(x(n:n+c-1));

end

y=fft(f,-1)/length(£f);

Y=abs(y);

xfs=fs*(0:length(f)-1)/length(f);
subplot(2,1,1)

plot2d(t(1:n),f(1:n));

subplot(2,1,2)
plot2d(xfs(1:length(xfs)/2),Y(1:1length(Y)/2));
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£1=10;£2=25;£3=40;




£s=100;
t=0:1/fs:6-(1/fs);
xl=cos (2x}pi*fixt);
x2=sin(2xYpi*f2*t);
x3=2*cos (2*%pi*f3*t) ;

x=x1+x2+x3;

c=5;

d=(c-1)/2;

for n=1:length(x)-c+1

h(n) = (1/c)*sum(x(n:n+c-1));

end

for n=1:1length(h)-d-1

f(n) = h(n)-(1/d)*sum(h(n:n+d-1));

end

y=fft(f,-1)/length(f);

Y=abs (y) ;
xfs=fs*(0:1length(£)-1)/length(f);
subplot(2,1,1)
plot2d(t(1:n),f(1:n));
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